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HN+4)= 2N+ N+2)+ 2

AN+ 12=2(2N+2) + 2
AN+ 12=4N+4 + 2
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6,8, 10

3(10) = 2(6 +8) + 2
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N+(N+2)=20(N+ 1)
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S(N+4)-4N=4(N +2)
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B(N+1)+4N=9(N+2)-4
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5N + 10D = 80
5N - 5D =-55

N+(8)=11

4Y + $§ =-18 4Y
s «f

5D = 25, D=5

05(6) + .10(5) = .80
N=6 80 + .50 = .80 v

Y>4X -4

see graph
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&Y+ X=1 Y +(-1) =
X= -1 Y=3

Y+ X=11 = Y=-14X+11/4
W='1f4 u'..*l-h. b=1
m-14X+10r X+4Y =4
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15 x 250 = 187.5

180 - 16A = 1000, -820 = 16A
A=-5125
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N, N+2, N+ 4
AN+ 4)+1=3N+2(N + 2)

AN+ 16 +1=3N+2N+ 4
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2N=4, N=-2
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05N +.10D=110, N+D=15

SN+ 10D = 110
-SN- 5D= -75

8D= 35 D=7
N +(7) = 15 .05(8) +.10(7) = 1.10
N=8 40+.70=1.10 v
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5Y +6X =-19

5Y +6(1)=-19

ﬁy_‘%iz_zg 5Y = -25

-
X= 1 Y=-5

BY +6X=+19 = Y=6/5X-195
Qtyﬂ 4)+b, b=13/3
=5/6X+13/3 or 5X-6Y =26
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2N-6+8N =4
10N =10, N=1

3(1)-(1)2+13-4(1)=3-1+13-4=
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A3x 180 =23.4
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